

KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422 Order # Date Entered Sales Person 32991 11/08/2018

Sales Person Billing Cycle Conflict 1

Calendar Political-Circuit Clerk

Product POLITICAL Date Range 11/08/2018

11/08/2018 - 11/10/2018

CoOp No Comment PO

POLITICAL

COMMITTEE TO ELECT BECKY TEBBENKAMP UHLICH

	Station	Date Range	Time Range	Len	Schedule	Repeated Comment	Rate	Qty	Total
1	KMMO-FM	11/08/2018-11/10/2018	08:00:00-09:00:00	00:30	0,0,0,1,1,1,0	All Weeks	10.00	3	30.00
2	KMMO-FM	11/08/2018-11/10/2018	09:00:00-10:00:00	00:30	0,0,0,1,1,1,0	All Weeks	10.00	3	30.00
3	KMMO-FM	11/08/2018-11/10/2018	11:00:00-12:00:00	00:30	0,0,0,1,1,1,0	All Weeks	10.00	3	30.00
4	KMMO-FM	11/08/2018-11/10/2018	17:00:00-18:00:00	00:30	0,0,0,1,1,1,0	All Weeks	10.00	3	30.00
						Total			120.00

Projected Billing		Count	Gross	Total
November	2018	12	120.00	120.00
		12	120.00	120.00

Customer Sales P	Person



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422

Order# Date Entered Sales Person

32875 11/01/2018

Billing Cycle Conflict 1

Calendar Political-Congress POLITICAL

Product Date Range CoOp Comment

11/01/2018 - 11/06/2018

No

POLITICAL

CLEAVER FOR CONGRESS

	Station	Date Range	Time Range	Len	Schedule	Repeated	Comment	Rate	Qty	Total
1	KMMO-FM	11/02/2018-11/06/2018	00:00:00-01:00:00	01:00	1,1,0,0,1,1,1	All Weeks		3.60	5	18.00
2	KMMO-FM	11/02/2018-11/06/2018	01:00:00-02:00:00	01:00	1,1,0,0,1,1,1	All Weeks		3.60	5	18.00
3	KMMO-FM	11/02/2018-11/06/2018	02:00:00-03:00:00	01:00	1,1,0,0,1,1,1	All Weeks		3.60	5	18.00
4	KMMO-FM	11/02/2018-11/06/2018	03:00:00-04:00:00	01:00	1,1,0,0,1,1,1	All Weeks		3.60	5	18.00
5	KMMO-FM	11/02/2018-11/06/2018	04:00:00-05:00:00	01:00	1,1,0,0,1,1,1	All Weeks		3.60	5	18.00
6	KMMO-FM	11/02/2018-11/06/2018	05:00:00-06:00:00	01:00	1,1,0,0,1,1,1	All Weeks		3.60	5	18.00
7	KMMO-FM	11/02/2018-11/06/2018	06:00:00-07:00:00	01:00	1,1,0,0,1,1,1	All Weeks		18.00	5	90.00
8	KMMO-FM	11/02/2018-11/06/2018	07:00:00-08:00:00	01:00	1,1,0,0,1,1,1	All Weeks		18.00	5	90.00
9	KMMO-FM	11/02/2018-11/06/2018	08:00:00-09:00:00	01:00	1,1,0,0,1,1,1	All Weeks		18.00	5	90.00
10	KMMO-FM	11/02/2018-11/06/2018	09:00:00-10:00:00	01:00	1,1,0,0,1,1,1	All Weeks		18.00	5	90.00
11	KMMO-FM	11/02/2018-11/06/2018	10:00:00-11:00:00	01:00	1,1,0,0,1,1,1	All Weeks		18.00	5	90.00
12	KMMO-FM	11/02/2018-11/06/2018	11:00:00-12:00:00	01:00	1,1,0,0,1,1,1	All Weeks		18.00	5	90.00
13	KMMO-FM	11/01/2018-11/06/2018	12:00:00-13:00:00	01:00	1,1,0,1,1,1,1	All Weeks		18.00	6	108.00
14	KMMO-FM	11/01/2018-11/06/2018	13:00:00-14:00:00	01:00	1,1,0,1,1,1,1	All Weeks		18.00	6	108.00
15	KMMO-FM	11/01/2018-11/06/2018	14:00:00-15:00:00	01:00	1,1,0,1,1,1,1	All Weeks		18.00	6	108.00
16	KMMO-FM	11/01/2018-11/06/2018	15:00:00-16:00:00	01:00	1,1,0,1,1,1,1	All Weeks		18.00	6	108.00
17	KMMO-FM	11/01/2018-11/06/2018	16:00:00-17:00:00	01:00	1,1,0,1,1,1,1	All Weeks		18.00	6	108.00
18	KMMO-FM	11/01/2018-11/06/2018	17:00:00-18:00:00	01:00	1,1,0,1,1,1,1	All Weeks		18.00	6	108.00
19	KMMO-FM	11/01/2018-11/06/2018	18:00:00-19:00:00	01:00	1,1,0,1,1,1,1	All Weeks		3.60	6	21.60
20	KMMO-FM	11/01/2018-11/05/2018	19:00:00-20:00:00	01:00	1,0,0,1,1,1,1	All Weeks		3.60	5	18.00
21	KMMO-FM	11/01/2018-11/05/2018	20:00:00-21:00:00	01:00	1,0,0,1,1,1,1	All Weeks		3.60	5	18.00
22	KMMO-FM	11/01/2018-11/05/2018	21:00:00-22:00:00	01:00	1,0,0,1,1,1,1	All Weeks		3.60	5	18.00
23	KMMO-FM	11/01/2018-11/05/2018	22:00:00-23:00:00	01:00	1,0,0,1,1,1,1	All Weeks		3.60	5	18.00
24	KMMO-FM	11/01/2018-11/05/2018	23:00:00-23:59:59	01:00	1,0,0,1,1,1,1	All Weeks		3.60	5	18.00
						Tota				1407.60

Projected Billing		Count	Gross	Total
November	2018	127	1407.60	1407.60
		127	1407.60	1407.60

Customer Sales Person	



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422 Order #
Date Entered
Sales Person

32867 10/31/2018

Billing Cycle Calendar Conflict 1 Political-C Product POLITICA

Political-Circuit Judge POLITICAL 11/01/2018 - 11/06/2018

Date Range CoOp Comment

No POLITICAL

COMMITTEE TO ELECT GILLIS LEONARD

	Station	Date Range	Time Range	Len	Schedule	Repeated Comment	Rate	Qty	Total
1	KMMO-FM	11/01/2018-11/06/2018	08:00:00-09:00:00	01:00	1,1,0,1,1,1,1	All Weeks	18.00	6	108.00
2	KMMO-FM	11/01/2018-11/06/2018	09:00:00-10:00:00	01:00	1,1,0,1,1,1,1	All Weeks	18.00	6	108.00
3	KMMO-FM	11/01/2018-11/06/2018	10:00:00-11:00:00	01:00	1,1,0,1,1,1,1	All Weeks	18.00	6	108.00
4	KMMO-FM	11/01/2018-11/06/2018	11:00:00-12:00:00	01:00	1,1,0,1,1,1,1	All Weeks	18.00	6	108.00
5	KMMO-FM	11/01/2018-11/06/2018	13:00:00-14:00:00	01:00	1,1,0,1,1,1,1	All Weeks	18.00	6	108.00
6	KMMO-FM	11/01/2018-11/06/2018	14:00:00-15:00:00	01:00	1,1,0,1,1,1,1	All Weeks	18.00	6	108.00
7	KMMO-FM	11/01/2018-11/06/2018	15:00:00-16:00:00	01:00	1,1,0,1,1,1,1	All Weeks	18.00	6	108.00
8	KMMO-FM	11/01/2018-11/06/2018	16:00:00-17:00:00	01:00	1,1,0,1,1,1,1	All Weeks	18.00	6	108.00
9	KMMO-FM	11/01/2018-11/06/2018	17:00:00-18:00:00	01:00	1,1,0,1,1,1,1	All Weeks	18.00	6	108.00
						Total			972.00

Projected Billing		Count	Gross	Total
November	2018	54	972.00	972.00
		54	972.00	972.00

Customer		Sales Po	erson	



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422

Order # Date Entered Sales Person Billing Cycle 32847 10/30/2018

Billing Cycle Calendar
Conflict 1 Political-MO State Senate

Product POLITICAL Date Range 10/31/2018

CoOp Comment

10/31/2018 - 11/06/2018

No

POLITICAL

STEPHAN FOR SENATE

	Station	Date Range	Time Range	Len	Schedule	Repeated Comme	nt Rate	Qty	Total
1	KMMO-FM	10/31/2018-11/06/2018	08:00:00-09:00:00	00:30	1,1,1,1,1,1	All Weeks	10.00	7	70.00
2	KMMO-FM	10/31/2018-11/06/2018	09:00:00-10:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	7	70.00
3	KMMO-FM	10/31/2018-11/06/2018	10:00:00-11:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	7	70.00
4	KMMO-FM	10/31/2018-11/06/2018	11:00:00-12:00:00	00:30	1,1,1,1,1,1	All Weeks	10.00	7	70.00
5	KMMO-FM	10/31/2018-11/06/2018	13:00:00-14:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	7	70.00
6	KMMO-FM	10/31/2018-11/06/2018	14:00:00-15:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	7	70.00
7	KMMO-FM	10/31/2018-11/06/2018	15:00:00-16:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	7	70.00
8	KMMO-FM	10/31/2018-11/06/2018	16:00:00-17:00:00	00:30	1,1,1,1,1,1	All Weeks	10.00	7	70.00
9	KMMO-FM	10/31/2018-11/06/2018	17:00:00-18:00:00	00:30	1,1,1,1,1,1	All Weeks	10.00	7	70.00
						Total			630.00

Projected Billing		Count	Gross	Total
October	2018	9	90.00	90.00
November	2018	54	540.00	540.00
		63	630.00	630.00

Customer	Sa	ioc	Person	
Customer	Sa	100	reison.	



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422

Order# Date Entered Sales Person 32855 10/30/2018

Billing Cycle Conflict 1 Calendar

Political-Circuit Judge Product **POLITICAL**

Date Range CoOp

Comment

11/01/2018 - 11/05/2018

No

POLITICAL

CITIZENS FOR JUDGE HAYES

	Station	Date Range	Time Range	Len	Schedule	Repeated	Comment	Rate	Qty	Total
1	KMMO-FM	11/01/2018-11/05/2018	08:00:00-09:00:00	01:00	1,0,0,1,1,1,1	All Weeks		18.00	5	90.00
2	KMMO-FM	11/01/2018-11/05/2018	09:00:00-10:00:00	01:00	1,0,0,1,1,1,1	All Weeks		18.00	5	90.00
3	KMMO-FM	11/01/2018-11/05/2018	10:00:00-11:00:00	01:00	1,0,0,1,1,1,1	All Weeks		18.00	5	90.00
4	KMMO-FM	11/01/2018-11/05/2018	11:00:00-12:00:00	01:00	1,0,0,1,1,1,1	All Weeks		18.00	5	90.00
5	KMMO-FM	11/01/2018-11/05/2018	13:00:00-14:00:00	01:00	1,0,0,1,1,1,1	All Weeks		18.00	5	90.00
6	KMMO-FM	11/01/2018-11/05/2018	15:00:00-16:00:00	01:00	1,0,0,1,1,1,1	All Weeks		18.00	5	90.00
7	KMMO-FM	11/01/2018-11/05/2018	16:00:00-17:00:00	01:00	1,0,0,1,1,1,1	All Weeks		18.00	5	90.00
8	KMMO-FM	11/01/2018-11/05/2018	17:00:00-18:00:00	01:00	1,0,0,1,1,1,1	All Weeks		18.00	5	90.00
						Tota	al .			720.00

Projected Billing		Count	Gross	Total
November	2018	40	720.00	720.00
		40	720.00	720.00

Customer	Sales Person	



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422 Order # Date Entered Sales Person 32765 10/26/2018

Billing Cycle
Conflict 1

Calendar
Political-Prosecutor
POLITICAL

Date Range CoOp Comment

Product

10/27/2018 - 11/06/2018 No POLITICAL

VOTE FOR TIM THOMPSON

	Station	Date Range	Time Range	Len	Schedule	Repeated Comment	Rate	Qty	Total
1	KMMO-FM	10/27/2018-11/06/2018	08:00:00-09:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	11	110.00
2	KMMO-FM	10/27/2018-11/06/2018	09:00:00-10:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	11	110.00
3	KMMO-FM	10/27/2018-11/06/2018	10:00:00-11:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	11	110.00
4	KMMO-FM	10/27/2018-11/06/2018	11:00:00-12:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	11	110.00
5	KMMO-FM	10/27/2018-11/06/2018	13:00:00-14:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	11	110.00
6	KMMO-FM	10/27/2018-11/06/2018	14:00:00-15:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	11	110.00
7	KMMO-FM	10/27/2018-11/06/2018	15:00:00-16:00:00	00:30	0,1,1,1,1,1,1	All Weeks	10.00	9	90.00
8	KMMO-FM	10/27/2018-11/05/2018	16:00:00-17:00:00	00:30	1,0,1,1,1,1,1	All Weeks	10.00	9	90.00
9	KMMO-FM	10/27/2018-11/06/2018	17:00:00-18:00:00	00:30	1,1,1,0,1,1,1	All Weeks	10.00	10	100.00
10	KMMO-FM	10/27/2018-11/06/2018	18:00:00-19:00:00	00:30	1,1,1,1,1,1	All Weeks	2.00	11	22.00
						Total			962.00

Projected Billing		Count	Gross	Total
October	2018	48	440.00	440.00
November	2018	57	522.00	522.00
		105	962.00	962.00

C	Calaa	D	
Customer	Sales	Person	



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422

Order# 32745 Date Entered 10/24/2018

Sales Person Billing Cycle

Calendar Conflict 1 Political-U.S. Senate

Product EST 4913 Date Range 10/30/2018 - 11/06/2018

CoOp No

Comment EST 4913

MCCASKILL FOR SENATE-SCREEN STRATEGIES C/O SCREEN STRATEGIES MEDIA-MCCASKILL

	Station	Date Range	Time Range	Len	Schedule	Repeated	Comment	Rate	Qty	Total
1	KMMO-FM	10/30/2018-11/06/2018	06:00:00-10:00:00	01:00	3,3,3,3,0,1	All Weeks	***************************************	21.18	19	402.42
2	KMMO-FM	10/30/2018-11/06/2018	10:00:00-15:00:00	01:00	3,3,3,3,1,1	All Weeks		21.18	20	423.60
3	KMMO-FM	10/30/2018-11/05/2018	15:00:00-19:00:00	01:00	3,3,3,3,1,1	All Weeks		21.18	17	360.06
						Sub	total			1186.08
						Age	ncy Commis	sion		177.92
						Tot	al			1008.16

Projected Billing		Count	Gross	Total
October	2018	18	381.24	324.05
November	2018	38	804.84	684.11
		56	1186.08	1008.16

Customer	Sales	Person	



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422

Order # Date Entered Sales Person 32732 10/23/2018

Billing Cycle Conflict 1

le Calendar Political-Circuit Clerk

Product Date Range CoOp Comment POLITICAL 10/28/2018 - 11/06/2018

No

POLITICAL

COMMITTEE TO ELECT KARLIN BRESHEARS

	Station	Date Range	Time Range	Len	Schedule	Repeated	Comment	Rate	Qty	Total
1	KMMO-FM	10/28/2018-11/06/2018	08:00:00-09:00:00	00:30	1,1,1,1,1,1,1	All Weeks		10.00	10	100.00
2	KMMO-FM	10/28/2018-11/06/2018	11:00:00-12:00:00	00:30	1,1,1,1,1,1	All Weeks		10.00	10	100.00
3	KMMO-FM	10/28/2018-11/06/2018	17:00:00-18:00:00	00:30	1,1,1,1,1,1,1	All Weeks		10.00	10	100.00
						Tota	al			300.00

Projected Billing		Count	Gross	Total
October	2018	12	120.00	120.00
November	2018	18	180.00	180.00
		30	300.00	300.00

Customer	Sales Person	



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422

Order# Date Entered 32725 10/23/2018

Sales Person Billing Cycle

Calendar Conflict 1 Political-Missouri State Rep

Product Date Range POLITICAL 10/25/2018 - 11/06/2018

CoOp Comment

No **POLITICAL**

FRIENDS OF PEGGY MCGAUGH

	Station	Date Range	Time Range	Len	Schedule	Repeated Comment	Rate	Qty	Total
1	KMMO-FM	10/25/2018-11/06/2018	08:00:00-09:00:00	00:30	1,1,1,1,1,1	All Weeks	18.00	13	234.00
2	KMMO-FM	10/25/2018-11/06/2018	09:00:00-10:00:00	00:30	1,1,1,1,1,1,1	All Weeks	18.00	13	234.00
3	KMMO-FM	10/25/2018-11/06/2018	11:00:00-12:00:00	00:30	1,1,1,1,1,1,1	All Weeks	18.00	13	234.00
4	KMMO-FM	10/25/2018-11/06/2018	16:00:00-17:00:00	00:30	1,1,1,1,1,1,1	All Weeks	18.00	13	234.00
5	KMMO-FM	10/25/2018-11/06/2018	17:00:00-18:00:00	00:30	1,1,1,1,1,1	All Weeks	18.00	13	234.00
						Total			1170.00

Projected Billing		Count	Gross	Total
October	2018	35	630.00	630.00
November	2018	30	540.00	540.00
		65	1170.00	1170.00

Customer	Sales Person
Cusionei	Sales reison



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422 Order # Date Entered Sales Person Billing Cycle

CoOp

Comment

32683 10/19/2018

n . Calendar

Conflict 1 Political-U.S. Senate

Product EST 4810 Date Range 10/23/2018 - 10/29/2018

No

EST 4810

MCCASKILL FOR SENATE-SCREEN STRATEGIES C/O SCREEN STRATEGIES MEDIA-MCCASKILL

	Station	Date Range	Time Range	Len	Schedule	Repeated	Comment	Rate	Qty	Total
1	KMMO-FM	10/23/2018-10/29/2018	06:00:00-10:00:00	01:00	3,3,3,3,3,1,1	All Weeks		21.18	17	360.06
2	KMMO-FM	10/23/2018-10/29/2018	10:00:00-15:00:00	01:00	3,3,3,3,1,1	All Weeks		21.18	17	360.06
3	KMMO-FM	10/23/2018-10/29/2018	15:00:00-19:00:00	01:00	3,3,3,3,0,0	All Weeks		21.18	15	317.70
						Sub	total		T	1037.82
						Agency Commission			155.67	
						Tota	ıl			882.15

Projected Billing		Count	Gross	Total
October	2018	49	1037.82	882.15
		49	1037.82	882.15

Customer _	Sales	Person	



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422

Order# Date Entered Sales Person 32682 10/19/2018

Billing Cycle

Calendar Conflict 1 Political-Missouri State Rep Product

Date Range CoOp

POLITICAL 11/02/2018 - 11/06/2018

No Comment

POLITICAL

FRIENDS FOR MUNTZEL

Ĺ	Station	Date Range	Time Range	Len	Schedule	Repeated Comment	Rate	Qty	Total
1	KMMO-FM	11/02/2018-11/06/2018	08:00:00-09:00:00	00:30	1,1,0,0,1,1,1	All Weeks	10.00	5	50.00
2	KMMO-FM	11/02/2018-11/06/2018	10:00:00-11:00:00	00:30	1,1,0,0,1,1,1	All Weeks	10.00	5	50.00
3	KMMO-FM	11/02/2018-11/05/2018	13:00:00-14:00:00	00:30	1,0,0,0,1,1,0	All Weeks	10.00	3	30.00
4	KMMO-FM	11/02/2018-11/05/2018	15:00:00-16:00:00	00:30	1,0,0,0,1,1,0	All Weeks	10.00	3	30.00
5	KMMO-FM	11/02/2018-11/05/2018	17:00:00-18:00:00	00:30	1,0,0,0,1,1,0	All Weeks	10.00	3	30.00
						Total			190.00

Projected Billing		Count	Gross	Total
November	2018	19	190.00	190.00
		19	190.00	190.00

Customer	Sales Person
Cusionei	odies reisuri



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422 Order # Date Entered Sales Person Billing Cycle Conflict 1

32658 10/17/2018

Calendar Political-Prosecutor

Product POLITICAL
Date Range 10/22/2018 - 11/06/2018

CoOp No Comment PO

POLITICAL

VOTE FOR TIM THOMPSON

	Station	Date Range	Time Range	Len	Schedule	Repeated	Comment	Rate	Qty	Total
1	KMMO-FM	10/22/2018-10/22/2018	05:00:00-06:00:00	00:15	1,0,0,0,0,0,0	All Weeks		1.20	1	1.20
2	KMMO-FM	10/24/2018-10/24/2018	11:00:00-12:00:00	00:15	0,0,1,0,0,0,0	All Weeks		6.00	1	6.00
3	KMMO-FM	10/25/2018-10/25/2018	13:00:00-14:00:00	00:15	0,0,0,1,0,0,0	All Weeks		6.00	1	6.00
4	KMMO-FM	10/26/2018-10/26/2018	15:00:00-16:00:00	00:15	0,0,0,0,1,0,0	All Weeks		6.00	1	6.00
5	KMMO-FM	10/27/2018-10/27/2018	09:00:00-10:00:00	00:15	0,0,0,0,0,1,0	All Weeks		6.00	1	6.00
6	KMMO-FM	10/27/2018-10/27/2018	11:00:00-12:00:00	00:15	0,0,0,0,0,1,0	All Weeks		6.00	1	6.00
7	KMMO-FM	10/29/2018-10/31/2018	08:00:00-09:00:00	00:15	1,0,1,0,0,0,0	All Weeks		6.00	2	12.00
8	KMMO-FM	10/29/2018-11/03/2018	11:00:00-12:00:00	00:15	1,1,1,1,1,0	All Weeks		6.00	6	36.00
9	KMMO-FM	10/29/2018-11/01/2018	16:00:00-17:00:00	00:15	1,0,1,1,0,0,0	All Weeks		6.00	3	18.00
10	KMMO-FM	10/30/2018-11/02/2018	05:00:00-06:00:00	00:15	0,1,0,1,1,0,0	All Weeks		1.20	3	3.60
11	KMMO-FM	10/30/2018-10/30/2018	17:00:00-18:00:00	00:15	0,1,0,0,0,0,0	All Weeks		6.00	1	6.00
12	KMMO-FM	10/31/2018-11/02/2018	15:00:00-16:00:00	00:15	0,0,1,0,1,0,0	All Weeks		6.00	2	12.00
13	KMMO-FM	11/04/2018-11/06/2018	08:00:00-09:00:00	00:15	2,1,0,0,0,0,1	All Weeks		6.00	4	24.00
14	KMMO-FM	11/04/2018-11/05/2018	13:00:00-14:00:00	00:15	2,0,0,0,0,0,1	All Weeks		6.00	3	18.00
15	KMMO-FM	11/05/2018-11/05/2018	05:00:00-06:00:00	00:15	1,0,0,0,0,0,0	All Weeks		1.20	1	1.20
16	KMMO-FM	11/05/2018-11/05/2018	09:00:00-10:00:00	00:15	1,0,0,0,0,0,0	All Weeks		6.00	1	6.00
17	KMMO-FM	11/05/2018-11/06/2018	11:00:00-12:00:00	00:15	2,1,0,0,0,0,0	All Weeks		6.00	3	18.00
18	KMMO-FM	11/05/2018-11/06/2018	15:00:00-16:00:00	00:15	2,2,0,0,0,0,0	All Weeks		6.00	4	24.00
19	KMMO-FM	11/05/2018-11/06/2018	16:00:00-17:00:00	00:15	2,2,0,0,0,0,0	All Weeks		6.00	4	24.00
20	KMMO-FM	11/06/2018-11/06/2018	17:00:00-18:00:00	00:15	0,2,0,0,0,0,0	All Weeks		6.00	2	12.00
21	KMMO-FM	10/22/2018-10/24/2018	08:00:00-09:00:00	00:15	1,1,1,0,0,0,0	All Weeks		6.00	3	18.00
22	KMMO-FM	10/22/2018-10/25/2018	17:00:00-18:00:00	00:15	1,1,1,1,0,0,0	All Weeks		6.00	4	24.00
						Tota	1			288.00

Projected Billing		Count	Gross	Total
October	2018	23	128.40	128.40
November	2018	29	159.60	159.60
		52	288.00	288.00

Customer	Sales	Person	
Customer	Jaics	LEISON	



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422

Order# Date Entered 32657 10/17/2018

Sales Person

Billing Cycle Conflict 1 Calendar Product

Political-Prosecutor POLITICAL

Date Range CoOp Comment

10/29/2018 - 11/05/2018 No

POLITICAL

VOTE FOR TIM THOMPSON

	Station	Date Range	Time Range	Len	Schedule	Repeated Comment	Rate	Qty	Total
1	KMMO-FM	10/29/2018-10/29/2018	15:00:00-16:00:00	00:30	1,0,0,0,0,0,0	All Weeks	10.00	1	10.00
2	KMMO-FM	10/30/2018-10/30/2018	16:00:00-17:00:00	00:30	0,1,0,0,0,0,0	All Weeks	10.00	1	10.00
3	KMMO-FM	11/01/2018-11/01/2018	17:00:00-18:00:00	00:30	0,0,0,1,0,0,0	All Weeks	10.00	1	10.00
4	KMMO-FM	11/03/2018-11/03/2018	09:00:00-10:00:00	00:30	0,0,0,0,0,1,0	All Weeks	10.00	1	10.00
5	KMMO-FM	11/05/2018-11/05/2018	17:00:00-18:00:00	00:30	2,0,0,0,0,0,0	All Weeks	10.00	2	20.00
						Total			60.00

Projected Billing		Count	Gross	Total
October	2018	2	20.00	20.00
November	2018	4	40.00	40.00
		6	60.00	60.00

0		
Customer	Sales Person	



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422 Order #
Date Entered

32651 10/16/2018

Sales Person Billing Cycle

Billing Cycle Calendar Conflict 1 Political-Circuit Clerk

Product POLITICA Date Range 10/22/20

CoOp Comment POLITICAL 10/22/2018 - 11/06/2018

No

POLITICAL

COMMITTEE TO ELECT BECKY TEBBENKAMP UHLICH

	Station	Date Range	Time Range	Len	Schedule	Repeated Comment	Rate	Qty	Total
1	KMMO-FM	10/22/2018-11/06/2018	08:00:00-09:00:00	00:30	1,1,1,1,1,1	All Weeks	10.00	16	160.00
2	KMMO-FM	10/22/2018-11/06/2018	09:00:00-10:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	16	160.00
3	KMMO-FM	10/22/2018-11/06/2018	11:00:00-12:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	16	160.00
4	KMMO-FM	10/22/2018-11/06/2018	17:00:00-18:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	16	160.00
						Total			640.00

Projected Billing		Count	Gross	Total
October	2018	40	400.00	400.00
November	2018	24	240.00	240.00
		64	640.00	640.00

Customer	Sales Person	



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422 Order #
Date Entered

Product

32621 10/12/2018

Sales Person Billing Cycle Conflict 1

Calendar Political-U.S. Senate

EST 4650

Date Range CoOp Comment

10/16/2018 - 10/22/2018

No EST 4650

MCCASKILL FOR SENATE-SCREEN STRATEGIES C/O SCREEN STRATEGIES MEDIA-MCCASKILL

	Station	Date Range	Time Range	Len	Schedule	Repeate	d Comn	nent F	Rate	Qty	Total
1	KMMO-FM	10/16/2018-10/22/2018	06:00:00-10:00:00	01:00	2,2,3,2,3,1,1	All Weel	(S	2	1.18	14	296.52
2	KMMO-FM	10/16/2018-10/22/2018	10:00:00-15:00:00	01:00	3,2,2,2,2,1,1	All Weel	(S	21	1.18	13	275.34
3	KMMO-FM	10/16/2018-10/22/2018	15:00:00-19:00:00	01:00	2,2,2,3,2,1,1	All Week	<s< td=""><td>21</td><td>1.18</td><td>13</td><td>275.34</td></s<>	21	1.18	13	275.34
						S	ubtotal				847.20
						A	gency Co	Commission			127.08
						To	otal				720.12
	ected Billing							Count	Gr	oss	Total
Oct	ober					2018	***************************************	40	847	.20	720.12
								40	847	.20	720.12

Customer		Sales	Person	
----------	--	-------	--------	--



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422 Order # Date Entered Sales Person 32610 10/11/2018

Billing Cycle Calendar
Conflict 1 Political-N

Conflict 1 Political-MO State Senate POLITICAL

Date Range
CoOp
Comment

10/22/2018 - 11/06/2018

No

POLITICAL

COMMITTEE TO ELECT DEAN DOHRMAN STATE REP

	Station	Date Range	Time Range	Len	Schedule	Repeated Comment	Rate	Qty	Total
1	KMMO-FM	10/22/2018-11/06/2018	08:00:00-09:00:00	01:00	1,1,1,1,1,1,1	All Weeks	18.00	16	288.00
2	KMMO-FM	10/22/2018-11/06/2018	11:00:00-12:00:00	01:00	1,1,1,1,1,1,1	All Weeks	18.00	16	288.00
3	KMMO-FM	10/22/2018-11/06/2018	13:00:00-14:00:00	01:00	1,1,1,1,1,1	All Weeks	18.00	16	288.00
4	KMMO-FM	10/22/2018-11/06/2018	16:00:00-17:00:00	01:00	1,1,1,1,1,1	All Weeks	18.00	16	288.00
5	KMMO-FM	10/22/2018-11/06/2018	17:00:00-18:00:00	01:00	1,1,1,1,1,1	All Weeks	18.00	16	288.00
						Total			1440.00

Projected Billing		Count	Gross	Total
October	2018	50	900.00	900.00
November	2018	30	540.00	540.00
		80	1440.00	1440.00

Customer	Sales Person	
Custoniei	Sales Feison	



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422 Order # Date Entered Sales Person 32605 10/11/2018

Calendar

Billing Cycle
Conflict 1
Product

Political-Recorder POLITICAL

Date Range CoOp Comment

10/30/2018 - 11/06/2018

No

POLITICAL

JAMIE FRANKLIN NICHOLS

	Station	Date Range	Time Range	Len	Schedule	Repeated Comment	Rate	Qty	Total
1	KMMO-FM	10/30/2018-11/06/2018	08:00:00-09:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	8	80.00
2	KMMO-FM	10/30/2018-11/06/2018	11:00:00-12:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	8	80.00
3	KMMO-FM	10/30/2018-11/06/2018	13:00:00-14:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	8	80.00
4	KMMO-FM	10/30/2018-11/06/2018	17:00:00-18:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	8	80.00
						Total			320.00

Projected Billing		Count	Gross	Total
October	2018	8	80.00	80.00
November	2018	24	240.00	240.00
		32	320.00	320.00

Customer	Sales	Person	



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422

Order# Date Entered Sales Person

32518 10/04/2018

Billing Cycle Conflict 1 Calendar Political-U.S. Senate

Product Date Range CoOp Comment

EST 4526 10/09/2018 - 10/15/2018

No

EST 4526

MCCASKILL FOR SENATE-SCREEN STRATEGIES C/O SCREEN STRATEGIES MEDIA-MCCASKILL

	Station	Date Range	Time Range	Len	Schedule	Repeated	Comment	Rate	Qty	Total
1	KMMO-FM	10/09/2018-10/15/2018	06:00:00-10:00:00	01:00	2,2,2,3,2,1,1	All Weeks		21.18	13	275.34
2	KMMO-FM	10/09/2018-10/15/2018	10:00:00-15:00:00	01:00	2,2,3,2,3,1,1	All Weeks		21.18	14	296.52
3	KMMO-FM	10/09/2018-10/15/2018	15:00:00-19:00:00	01:00	3,2,2,2,2,1,1	All Weeks		21.18	13	275.34
						Sub	total			847.20
						Age	ncy Commiss	sion		127.08
						Tota	al			720.12

Projected Billing		Count	Gross	Total
October	2018	40	847.20	720.12
		40	847.20	720.12

Customer .		Sales	Person		
------------	--	-------	--------	--	--



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422

Order# 32476 Date Entered 10/04/2018

Sales Person Billing Cycle

Calendar

Political-Prosecutor POITICAL Conflict 1

Product Date Range

No

10/20/2018 - 11/06/2018

CoOp Comment **POLITICAL**

COMMITTEE TO ELECT STOUFFER PROSECUTOR

	Station	Date Range	Time Range	Len	Schedule	Repeated Comme	nt Rate	Qty	Total
1	KMMO-FM	10/20/2018-11/06/2018	00:00:00-03:00:00	00:30	2,2,2,2,2,2	All Weeks	2.00	36	72.00
2	KMMO-FM	10/20/2018-11/06/2018	03:00:00-05:00:00	00:30	2,2,2,2,2,2	All Weeks	2.00	36	72.00
3	KMMO-FM	10/20/2018-11/06/2018	08:00:00-09:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	18	180.00
4	KMMO-FM	10/20/2018-11/06/2018	09:00:00-10:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	18	180.00
5	KMMO-FM	10/20/2018-11/06/2018	10:00:00-11:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	18	180.00
6	KMMO-FM	10/20/2018-11/06/2018	11:00:00-12:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	18	180.00
7	KMMO-FM	10/20/2018-11/06/2018	13:00:00-14:00:00	00:30	1,1,1,1,1,1	All Weeks	10.00	18	180.00
8	KMMO-FM	10/20/2018-11/06/2018	14:00:00-15:00:00	00:30	1,1,1,1,1,1	All Weeks	10.00	18	180.00
9	KMMO-FM	10/20/2018-11/06/2018	15:00:00-16:00:00	00:30	1,1,1,1,1,1	All Weeks	10.00	18	180.00
10	KMMO-FM	10/20/2018-11/06/2018	16:00:00-17:00:00	00:30	1,1,1,1,1,1	All Weeks	10.00	18	180.00
11	KMMO-FM	10/20/2018-11/06/2018	17:00:00-18:00:00	00:30	1,1,1,1,1,1	All Weeks	10.00	18	180.00
12	KMMO-FM	10/20/2018-11/05/2018	18:00:00-20:00:00	00:30	3,3,3,3,3,3	All Weeks	2.00	51	102.00
13	KMMO-FM	10/20/2018-11/05/2018	20:00:00-23:59:59	00:30	2,2,2,2,2,2	All Weeks	2.00	34	68.00
						Total			1934.00

Projected Billing		Count	Gross	Total
October	2018	216	1296.00	1296.00
November	2018	103	638.00	638.00
		319	1934.00	1934.00

Customer	Sales Person	



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422 Order # Date Entered 32466 10/03/2018

Sales Person Billing Cycle

Calendar Political POLITICAL

Product Date Range CoOp

Conflict 1

10/23/2018 - 11/05/2018

No

Comment POLITICAL

HRCC-THOMPSON COMMUNICATIONS C/O THOMPSON COMMUNICATION-HRCC

L	Station	Date Range	Time Range	Len	Schedule	Repeated	Comment	Rate	Qty	Total
1	KMMO-FM	10/23/2018-10/29/2018	08:00:00-12:00:00	01:00	2,2,2,2,0,0	All Weeks		48.00	10	480.00
2	KMMO-FM	10/23/2018-10/29/2018	13:00:00-19:00:00	01:00	3,2,2,2,2,0,0	All Weeks		48.00	11	528.00
3	KMMO-FM	10/30/2018-11/05/2018	08:00:00-12:00:00	01:00	2,2,2,2,2,0,0	All Weeks		48.00	10	480.00
4	KMMO-FM	10/30/2018-11/05/2018	13:00:00-19:00:00	01:00	3,3,3,3,0,0	All Weeks 48.0		48.00	15	720.00
						Sub	total		T I	2208.00
						Age	ncy Commis	sion		331.20
						Tota	al			1876.80
						L				

Projected Billing		Count	Gross	Total
October	2018	31	1488.00	1264.80
November	2018	15	720.00	612.00
		46	2208.00	1876.80

Customer	Sales Person
Customer	Sales Feison



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422 Order # 3

32400 09/28/2018

Sales Person Billing Cycle

Conflict 1

Calendar Political-U.S. Senate

Product EST 4435

Date Range 10/02/2018 - 10/08/2018

CoOp No

Comment EST 4435

MCCASKILL FOR SENATE-SCREEN STRATEGIES C/O SCREEN STRATEGIES MEDIA-MCCASKILL

	Station	Date Range	Time Range	Len	Schedule	Repeated	Comment	Rate	Qty	Total
1	KMMO-FM	10/02/2018-10/08/2018	06:00:00-10:00:00	01:00	2,2,3,2,3,1,1	All Weeks		21.18	14	296.52
2	KMMO-FM	10/02/2018-10/08/2018	10:00:00-15:00:00	01:00	3,2,2,2,2,1,1	All Weeks		21.18	13	275.34
3	KMMO-FM	10/02/2018-10/08/2018	15:00:00-19:00:00	01:00	2,2,2,3,2,1,1	All Weeks		21.18	13	275.34
		1				Subt	otal			847.20
						Ager	ncy Commiss	sion		127.08
						Tota	1			720.12

Projected Billing		Count	Gross	Total
October	2018	40	847.20	720.12
		40	847.20	720.12

Customer	Sales Person	



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422

Order# Date Entered Sales Person

32327 09/24/2018

Calendar

Billing Cycle Conflict 1 Product Date Range

CoOp

Political-U.S. Senate EST 4349 MCCASKILL 09/25/2018 - 10/01/2018

No Comment

EST 4349 MCCASKILL

MCCASKILL FOR SENATE-SCREEN STRATEGIES C/O SCREEN STRATEGIES MEDIA-MCCASKILL

Ĺ	Station	Date Range	Time Range	Len	Schedule	Repeated Comment	Rate	Qty	Total
1	KMMO-FM	09/25/2018-10/01/2018	06:00:00-10:00:00	01:00	2,2,3,2,3,1,1	All Weeks	21.18	14	296.52
2	KMMO-FM	09/25/2018-10/01/2018	10:00:00-15:00:00	01:00	2,2,2,3,2,1,1	All Weeks	21.18	13	275.34
3	KMMO-FM	09/25/2018-10/01/2018	15:00:00-19:00:00	01:00	3,2,2,2,2,1,1	All Weeks	21.18	13	275.34
						Subtotal		T	847.20
						Agency Commis	sion		127.08
						Total			720.12

Projected Billing		Count	Gross	Total
September	2018	33	698.94	594.10
October	2018	7	148.26	126.02
		40	847.20	720.12

Customer	O - 1	D		
		Person		



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422 Order # Date Entered Sales Person 32266 09/17/2018

Calendar

Billing Cycle Conflict 1 Product

Date Range

Political-Missouri State Rep POLITICAL-STATE REP 10/25/2018 - 11/06/2018

CoOp No Comment PO

POLITICAL-STATE REP

COMMITTEE TO ELECT VINCE LUTTERBIE

	Station	Date Range	Time Range	Len	Schedule	Repeated Comment	Rate	Qty	Total
1	KMMO-FM	10/25/2018-11/06/2018	08:00:00-09:00:00	00:30	1,1,1,1,1,1	All Weeks	10.00	13	130.00
2	KMMO-FM	10/25/2018-11/06/2018	09:00:00-10:00:00	00:30	1,1,1,1,1,1	All Weeks	10.00	13	130.00
3	KMMO-FM	10/25/2018-11/06/2018	10:00:00-11:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	13	130.00
4	KMMO-FM	10/25/2018-11/06/2018	11:00:00-12:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	13	130.00
5	KMMO-FM	10/25/2018-11/06/2018	13:00:00-14:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	13	130.00
6	KMMO-FM	10/25/2018-11/06/2018	14:00:00-15:00:00	00:30	1,1,1,1,1,1	All Weeks	10.00	13	130.00
7	KMMO-FM	10/25/2018-11/06/2018	15:00:00-16:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	13	130.00
8	KMMO-FM	10/25/2018-11/06/2018	16:00:00-17:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	13	130.00
9	KMMO-FM	10/25/2018-11/06/2018	17:00:00-18:00:00	00:30	1,1,1,1,1,1,1	All Weeks	10.00	13	130.00
						Total			1170.00

Projected Billing		Count	Gross	Total
October	2018	63	630.00	630.00
November	2018	54	540.00	540.00
		117	1170.00	1170.00

Customer	Sales	Person	
Ouctonio.	Cuico	. 010011	



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422 Order # Date Entered

32240 09/14/2018

Sales Person Billing Cycle

Billing Cycle Calendar
Conflict 1 Political-U.S. Senate

Product Date Range EST 4223 09/18/2018 - 09/24/2018

CoOp N Comment E

No EST 4223

MCCASKILL FOR SENATE-SCREEN STRATEGIES C/O SCREEN STRATEGIES MEDIA-MCCASKILL

	Station	Date Range	Time Range	Len	Schedule	Repeated	Comment	Rate	Qty	Total
1	KMMO-FM	09/18/2018-09/24/2018	06:00:00-10:00:00	01:00	2,2,3,2,3,1,1	All Weeks		21.18	14	296.52
2	KMMO-FM	09/18/2018-09/24/2018	10:00:00-15:00:00	01:00	2,2,2,3,2,1,1	All Weeks		21.18	13	275.34
3	KMMO-FM	09/18/2018-09/24/2018	15:00:00-19:00:00	01:00	3,2,2,2,2,1,1	All Weeks		21.18	13	275.34
						Sub	total			847.20
						Age	ncy Commis	sion		127.08
						Tota	al			720.12

Projected Billing		Count	Gross	Total
September	2018	40	847.20	720.12
		40	847.20	720.12

Customer	Calaa	Darcas			
Customer	Sales	Person			



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422

Order# Date Entered Sales Person

32121 09/10/2018

Billing Cycle Conflict 1

Calendar Political-U.S. Senate EST 4190 MCCASKILL 09/12/2018 - 09/17/2018

Date Range CoOp Comment

Product

No

EST 4190 MCCASKILL

MCCASKILL FOR SENATE C/O SCREEN STRATEGIES MEDIA-MCCASKILL

	Station	Date Range	Time Range	Len	Schedule	Repeated	Comment	Rate	Qty	Total
1	KMMO-FM	09/12/2018-09/17/2018	06:00:00-10:00:00	01:00	2,0,3,2,2,2,2	All Weeks		21.18	13	275.34
2	KMMO-FM	09/12/2018-09/17/2018	10:00:00-15:00:00	01:00	3,0,2,3,2,2,2	All Weeks		21.18	14	296.52
3	KMMO-FM	09/12/2018-09/17/2018	15:00:00-19:00:00	01:00	2,0,2,2,3,2,2	All Weeks	21.18	13	275.34	
						Sub	total			847.20
						Age	ncy Commis:	sion		127.08
						Tota	ıl			720.12

Projected Billing		Count	Gross	Total
September	2018	40	847.20	720.12
		40	847.20	720.12

Customer Sales Person



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422 Order # Date Entered Sales Person 32108 09/06/2018

Billing Cycle
Conflict 1

Calendar Political-U.S. Senate EST 4173 MCCASKILL 09/07/2018 - 09/10/2018

Product Date Range CoOp Comment

No EST 4173 MCCASKILL

MCCASKILL FOR SENATE C/O SCREEN STRATEGIES MEDIA-MCCASKILL

	Station	Date Range	Time Range	Len	Schedule	Repeated	Comment	Rate	Qty	Total
1	KMMO-FM	09/07/2018-09/10/2018	06:00:00-10:00:00	01:00	1,0,0,0,2,1,2	All Weeks		21.18	6	127.08
2	KMMO-FM	09/07/2018-09/10/2018	10:00:00-15:00:00	01:00	2,0,0,0,2,2,1	All Weeks		21.18	7	148.26
3	KMMO-FM	09/07/2018-09/10/2018	15:00:00-19:00:00	01:00	2,0,0,0,1,2,2	All Weeks		21.18	7	148.26
						Sub	total		T	423.60
						Age	ncy Commiss	sion		63.54
						Tota	al			360.06

Projected Billing		Count	Gross	Total
September	2018	20	423.60	360.06
		20	423.60	360.06

Customer	Sales	Person	
----------	-------	--------	--



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422 Order # Date Entered Sales Person Billing Cycle

Product

31713 07/27/2018 Peter Hollabaugh Calendar

Conflict 1 Political-Presiding Commissioner

POLITICAL

07/02/2018 - 08/07/2018

Date Range 07/ CoOp No Comment PO

POLITICAL

CITIZENS TO ELECT DON BARAGARY

	Station	Date Range	Time Range	Len	Schedule	Repeated	Comment	Rate	Qty	Total
1	KMMO-FM	07/31/2018-08/07/2018	08:00:00-09:00:00	00:30	1,1,1,1,1,1,0	All Weeks		0.00	7	0.00
2	KMMO-FM	07/31/2018-08/07/2018	09:00:00-10:00:00	00:30	1,1,1,1,1,1,0	All Weeks		0.00	7	0.00
3	KMMO-FM	07/31/2018-08/07/2018	11:00:00-12:00:00	00:30	1,1,1,1,1,1,0	All Weeks		0.00	7	0.00
4	KMMO-FM	07/31/2018-08/07/2018	13:00:00-14:00:00	00:30	1,1,1,1,1,1,0	All Weeks		0.00	7	0.00
5	KMMO-FM	07/31/2018-08/07/2018	17:00:00-18:00:00	00:30	1,1,1,1,1,1,0	All Weeks		0.00	7	0.00
6	KMMO-FM	07/02/2018-07/31/2018						350.00	1	350.00
		*****				Tota	al			350.00

Projected Billing		Count	Gross	Total
July	2018	 6	350.00	350.00
August	2018	30	0.00	0.00
		 36	350.00	350.00

Customer	Sales	Person	



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422

Order# Date Entered Sales Person Billing Cycle Conflict 1

31444 07/03/2018 Mindee Grimes Calendar

Product Date Range CoOp

Comment

Political-Circuit Clerk POLITICAL 07/03/2018 - 07/14/2018

No

POLITICAL

COMMITTEE TO ELECT BECKY TEBBENKAMP UHLICH

	Station	Date Range	Time Range	Len	Schedule	Repeated Comment	Rate	Qty	Total
1	KMMO-FM	07/03/2018-07/04/2018	08:00:00-09:00:00	00:30	0,1,1,0,0,0,0	All Weeks	10.00	2	20.00
2	KMMO-FM	07/03/2018-07/04/2018	11:00:00-12:00:00	00:30	0,1,1,0,0,0,0	All Weeks	10.00	2	20.00
3	KMMO-FM	07/03/2018-07/04/2018	17:00:00-18:00:00	00:30	0,1,1,0,0,0,0	All Weeks	10.00	2	20.00
4	KMMO-FM	07/09/2018-07/14/2018	08:00:00-09:00:00	00:30	1,1,1,1,1,1,0	All Weeks	10.00	6	60.00
5	KMMO-FM	07/09/2018-07/14/2018	11:00:00-12:00:00	00:30	1,1,1,1,1,1,0	All Weeks	10.00	6	60.00
						Total			180.00

Projected Billing	Count	Gross	Total
July 2018	18	180.00	180.00
	18	180.00	180.00

Customer		Sales	Person	1
	·	Caico	1 013011	



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422 Order #
Date Entered
Sales Person
Billing Cycle
Conflict 1
Product

31443 07/02/2018 Peter Hollabaugh Broadcast

Conflict 1 Product Date Range CoOp

Comment

Broadcast Political-MO State Senate O'LAUGHLIN #54263 07/24/2018 - 08/07/2018

No

O'LAUGHLIN #54263

O'LAUGHLIN FOR MO SD18-REGIONAL REPS C/O REGIONAL REPS-O'LAUGHLIN FOR MO SD18

Г	Station	Date Range	Time Range	Len	Schedule	Repeated	Comment	Rate	Qty	Total
1	KMMO-FM	07/24/2018-08/03/2018	08:00:00-09:00:00	01:00	0,1,1,1,1,0,0	All Week		25.75	8	206.00
2	KMMO-FM	07/24/2018-08/03/2018	09:00:00-10:00:00	01:00	0,2,1,1,1,0,0	All Week	S	25.75	10	257.50
3	KMMO-FM	07/24/2018-08/02/2018	10:00:00-11:00:00	01:00	0,1,0,1,0,0,0	All Week	s	25.75	4	103.00
4	KMMO-FM	07/24/2018-08/02/2018	11:00:00-12:00:00	01:00	0,1,0,1,0,0,0	All Week	s	25.75	4	103.00
5	KMMO-FM	07/24/2018-08/03/2018	13:00:00-14:00:00	01:00	0,1,1,0,1,0,0	All Week	S	25.75	6	154.50
6	KMMO-FM	07/25/2018-08/03/2018	14:00:00-15:00:00	01:00	0,0,1,0,1,0,0	All Week	S	25.75	4	103.00
7	KMMO-FM	07/24/2018-08/03/2018	15:00:00-16:00:00	01:00	0,1,1,1,1,0,0	All Week	s	25.75	8	206.00
8	KMMO-FM	07/24/2018-08/03/2018	16:00:00-17:00:00	01:00	0,0,1,1,1,0,0	All Week	S	25.75	6	154.50
9	KMMO-FM	07/24/2018-08/03/2018	17:00:00-18:00:00	01:00	0,1,1,1,0,0,0	All Week	s	25.75	6	154.50
10	KMMO-FM	07/28/2018-08/05/2018	08:00:00-09:00:00	01:00	0,0,0,0,0,1,1	All Week	S	25.75	4	103.00
11	KMMO-FM	07/28/2018-08/05/2018	09:00:00-10:00:00	01:00	0,0,0,0,0,1,1	All Week	S	25.75	4	103.00
12	KMMO-FM	07/28/2018-08/05/2018	13:00:00-15:00:00	01:00	0,0,0,0,0,2,1	All Week	\$	25.75	6	154.50
13	KMMO-FM	07/28/2018-08/05/2018	15:00:00-17:00:00	01:00	0,0,0,0,0,1,1	All Week	5	25.75	4	103.00
14	KMMO-FM	08/07/2018-08/07/2018	08:00:00-09:00:00	01:00	0,1,0,0,0,0,0	All Week	3	25.75	1	25.75
15	KMMO-FM	08/07/2018-08/07/2018	09:00:00-10:00:00	01:00	0,1,0,0,0,0,0	All Week	S	25.75	1	25.75
16	KMMO-FM	08/07/2018-08/07/2018	10:00:00-12:00:00	01:00	0,1,0,0,0,0,0	All Week	3	25.75	1	25.75
17	KMMO-FM	08/07/2018-08/07/2018	13:00:00-15:00:00	01:00	0,1,0,0,0,0,0	All Week	8	25.75	1	25.75
18	KMMO-FM	07/30/2018-08/06/2018	08:00:00-09:00:00	01:00	1,0,0,0,0,0,0	All Week	3	25.75	2	51.50
19	KMMO-FM	07/30/2018-08/06/2018	09:00:00-10:00:00	01:00	1,0,0,0,0,0,0	All Week	\$	25.75	2	51.50
20		07/30/2018-08/06/2018	10:00:00-12:00:00	01:00	1,0,0,0,0,0,0	All Week	3	25.75	2	51.50
21	KMMO-FM	07/30/2018-08/06/2018	13:00:00-15:00:00	01:00	1,0,0,0,0,0,0	All Week	3	25.75	2	51.50
22	KMMO-FM	07/30/2018-08/06/2018	15:00:00-17:00:00	01:00	1,0,0,0,0,0,0	All Week	6	25.75	2	51.50
23	KMMO-FM	07/30/2018-08/06/2018	17:00:00-18:00:00	01:00	1,0,0,0,0,0,0	All Week	3	25.75	2	51.50
						Su	btotal			2317.50
						<u> </u>	ency Commis	sion		643.11
						То	al			1674.39

Projected Billing		Count	Gross	Total
July	2018	37	952.75	688.36
August	2018	53	1364.75	986.03
		90	2317.50	1674.39

Customer	 Sales	Person	



KMMO-FM PO Box 128 Marshall MO 65340 660-886-7422 Order #
Date Entered
Sales Person
Billing Cycle
Conflict 1

Product

30200 03/09/2018 Peter Hollabaugh Calendar

Political POLITICAL

Date Range 03/25/2018 - 04/03/2018

CoOp No Comment PO

POLITICAL

SALINE COUNTY ECONOMIC DEVELOPMENT SALES TAX TASK

	Station	Date Range	Time Range	Len	Schedule	Repeated Comment	Rate	Qty	Total
1	KMMO-FM	03/25/2018-04/03/2018	08:00:00-09:00:00	00:15	2,2,2,2,2,2	All Weeks	6.00	20	120.00
2	KMMO-FM	03/25/2018-04/03/2018	09:00:00-10:00:00	00:15	2,2,2,2,2,2	All Weeks	6.00	20	120.00
3	KMMO-FM	03/25/2018-04/03/2018	10:00:00-11:00:00	00:15	2,2,2,2,2,2	All Weeks	6.00	20	120.00
4	KMMO-FM	03/25/2018-04/03/2018	11:00:00-12:00:00	00:15	2,2,2,2,2,2	All Weeks	6.00	20	120.00
5	KMMO-FM	03/25/2018-04/03/2018	13:00:00-14:00:00	00:15	2,2,2,2,2,2	All Weeks	6.00	20	120.00
6	KMMO-FM	03/25/2018-04/03/2018	14:00:00-15:00:00	00:15	1,1,1,1,1,1,1	All Weeks	6.00	10	60.00
7	KMMO-FM	03/25/2018-04/03/2018	15:00:00-16:00:00	00:15	1,1,1,1,1,1,1	All Weeks	6.00	10	60.00
8	KMMO-FM	03/25/2018-04/03/2018	16:00:00-17:00:00	00:15	2,2,2,2,2,2	All Weeks	6.00	20	120.00
9	KMMO-FM	03/25/2018-04/03/2018	17:00:00-18:00:00	00:15	2,2,2,2,2,2	All Weeks	6.00	20	120.00
10	KMMO-FM	04/03/2018-04/03/2018	14:00:00-15:00:00	00:15	0,1,0,0,0,0,0	All Weeks	6.00	1	6.00
11	KMMO-FM	04/03/2018-04/03/2018	15:00:00-16:00:00	00:15	0,1,0,0,0,0,0	All Weeks	6.00	1	6.00
12	KMMO-FM	04/03/2018-04/03/2018	16:00:00-17:00:00	00:15	0,1,0,0,0,0,0	All Weeks	6.00	1	6.00
	100 100 100 100 100 100 100 100 100 100					Total		I	978.00

Projected Billing		Count	Gross	Total
March	2018	112	672.00	672.00
April	2018	51	306.00	306.00
		163	978.00	978.00

Sales	Person		
	Sales	Sales Person	Sales Person